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1. Which value of x makes the following equation true?

=1
A 0
B. 1
C. 2
D. 3

oo w>

rd
Which number is equivalent to[ _i‘} (2)3(4}2-_1
o=

4
8

16
96

3. Which is an expression equivalent to /64 7

A

B
C.
D

32

a

L

42

4.f16

4. Willie wants to paint a wall in his bedroom. He measures the length and the width of the wall and finds that it
is a square and that the area of the wall is 81 square feet. What is the length of Willie’s wall?

A

B.
C.
D

4.5 feet
8.1 feet
9.0 feet
10.0 feet

5. In 1974, a computer could complete 3><103 computations per second. In 2011, a computer could complete
1><m” computations per second. Which number is closest to how many times faster the 2011 computer is than
the 1974 computer?

A1
=2
B3
C. 3,000
D. 30,000,000
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6. The diameter of a grain of sand is 0.06534 millimeter. Which value is the best estimate of this diameter?
A 6 x m—BmiIIimeter
B. 7 % ]0—3millimeter
C. 6 IU—EmiIIimeter

=Imilli
D. 7% 10 millimeter

7. The distance from Tallahassee, Florida, to London, England, is4 3162 % 10 imiles. The distance from London,
England, to Tokyo, Japan, isﬁ 424 % 10 3miles. If you were to fly from Tallahassee to London and then to
Tokyo, how many miles would you have traveled?

A 2056 x10°
B 2806 x 10°
C. 10792x10*
D 10.792 x 108

8 What is the value equivalent to 5.5x 104,
0.02
A i1x1078
B i1x1072
C 75x 1075
P 751072

9. In Quadrilateral JKLM ©elowr. .~ EJM and .~ JAJfIare right angles. The dimensions shown are in feet.

J 42 ft K
[
41 ft

M 51 ft L
What is the length ofKT-J

A 40 feet

B. 51 feet

C. 58 feet

D. 65 feet
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10. Marcus, Jean, and Joel are standing on the bases of a baseball field as shown below.

1.

Half a Baseball Diamond

e
=

T I
 Marcus "EE-""FJ]
2T 5

(feet)
&

Joel J" P

0 10 20 30 40 50 60 70 80 90 100
(feet)

The line segments that connect 2nd base to 1st base and 2nd base to 3rd base form a right angle. Marcus is
on 3rd base and he is 90 feet from Jean who is on 2nd base. Jean is 90 feet from Joel who is on 1st base.
How far, in feet, is Marcus from Joel?

A 45
B. 90
C. op.f2
D

90./3

A cylinder was removed from the inside of another cylinder to form the solid below.

J¢—————— 30 inches ————]

10 inches

je———22 inches —|

Which is the closest to the volume of the solid that remained?

A 2,286 cubic inches
B. 3,266 cubic inches
C. 10,864 cubic inches
D. 13,062 cubic inches
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12. A hollow glass cone is filled with perfume and placed inside of a hollow cylindrical container with the same
height and diamgter as the cone. The cylinder will then be filled with packing material. If the cone
occupies 60 cm™ of space, how many cubic centimeters of packing material will be needed?

A

B.
C.
D

30
60
120
180

13. A cylinder 12 millimeters tall was removed from a cube as shown below.

2mm

Bl

|

12 mm

Which measure is closest to the volume of the remaining cube?

A

B.
C.
D

1,577 cubic millimeters
1,690 cubic millimeters
1,766 cubic millimeters
1,879 cubic millimeters

14. The value of |'33is between what two numbers?

A

B.
C.
D

between 3 and 4
between 5 and 6
between 16 and 17
between 32 and 34

15. Between which two whole numbers is fgg?

A

B.
C.
D

8and 9

9and 10
10 and 11
11 and 12
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